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Full Marks : 50
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English Version :
[Use a separate Answer Book for each group]

Group - A
Answer any five questions of the following :
a) What is meant by innate idea?
b) Explain any one argument of Locke to refute innate idea.
¢) What is idea according to Locke?
d) Why does Locke call substance a complex idea?
e) What is critical philosophy of Kant?
f) What is a priori judgement?
g) What is a posteriori judgement?
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h)

Make a difference between synthetic and analytic judgement.

1) Write the distinction between impression and idea after Hume.
J)  Write a short note on Hume's theory of causality.
Group -B
Answer any five questions of the following : (5x5)
a) If Aand B are known to be true, and X and Y are known to be false, but the truth values of P and
Q are not known, determine the truth value of following statement :
) (XoP)=(B>Y)
i) (XeQ)>(~AvP)
b) Characterise the following statement forms by the means of truth table method :
) [po(@>n]=l(~q>~p)or]
i) [(pea)v~al=(q>r)
c) Determine which of the following sentence are logically equivalence, by using the truth table
method :
i) (peq)>r, po(q>or)
i) (p>a) [(pea)v(~pe~0)
d) 1) Testthe validity of the following argument by the method of resolution :
AoB
AoC
. A>(BeC)
i)  Use fellswoop method to test whether the following first schema implies the second schema :
(pva)—>r, p—(qvr)
e) Construct the validity of the following arguments just adding three statements :
)] Q>R i) (Po>Q)e(QP) iii) Ev(FeG)
RoS RoS LEVG
~9S PvR
~~Qe~R - QvS
iv) ToU V) (NeO)P
~UvV) ~P>~0)>Q
o~T ~N>Q
f)  Construct formal prof of validity for the following arguments (any two) :
i) ZoA i) ToUeV) i) W
Zv A UwvVv)ow LADA
SA ST oW
g) i) Distinguish with example between rules of inference and rules of replacement. (3)
i)  When a schema is consistent? Explain with example. (2)
h) 1) 'Substitution of schema for letters preserves validity.'-Explain with example. (2.5)

i) 'If one schema implies a second and the second implies a third, then the first implies the
third.—Explain with example. (2.5)
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i) Prove the invalidity of the following arguments by truth value assignment. (any two) (25+25)

i) X=(>2) i) So(T>oU) i) Iv~1J
Y=(~Xe~2) VoWoX) ~(~Kel)
Z=(Xv~Y) To(VeW) ~(~le~L)
L XvZ ~(TeX) n~JoK

~S=U

J)  What is meant by tautological statement form? Explain with an example.
X
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